ENBUNEXEYHES

(B)SM24£4818

EAL HREINEANGTTHSENGER

(E)SF3%E3/8318

F25D1HR

(Bf:M)

B ® B AEERE A NIEEREB)| BEA-B) | EE
ZE NI 7,088,000 7,252,500 A 164,500
T E IR 2,107,924 2,202,101 A 94177
RERE@EhERE 18,529,940 20,834,119 A 2,304,179
2T U 61,944,222 55,618,796 6,325,426
Iy EEINE 871,523 2,549,055 A 1,677,532
25 S8 E IR 0 219,000 A 219,000
+ NEREE XIS 189,532,719 210,090,535] A 20,557,816
| LD L E JINE 12,168,078 12,492,985| A 324,907
e EERA Y —EREFTENG 44,408,592 46,806,541 A 2,397,949
2 F DD IR 392,010 0 392,010
= H—E XFEEUREEET (1) 337,043,008 358,065,632] A 21,022,624
%ﬂ AEE 264,870,363 282,621,672 A 17,751,309
e =X% 34,644,476 38,170,454] A 3,525,978
o 3t 25,558,241 21,697,722 3,860,519
’0) HEZEEERIPEEXEE 1,860,579 3,643,899 A 1,783,320
e # BmEER 1,138,100 1,143,400 A 5,300
3 m (B2 AR 1,702,269 1,589,746 112,523
HEHAZE 319 320 A1
A {EENE 4,313,992 2,848,227 1,465,765
EEHMEEERELEINAEE A 365,775 A 256,325 A 109,450
ZTRMNER 141,910 247400 A 105,490
S—EXRFEERHE (2) 333,864,474 351,706,515] A 17,842,041
H—E RFEEEREEE(3)=(1)-(2) 3,178,534 6,359,117] A 3,180,583
EBENH Iz ISR E A &y 3,580 4,146 A 566
o | 7t [EDHD Y —EREBIIRG 156,030 243147 A 87,117
e H—E XFEISNEET (4) 159,610 247,293 A 87,683
A | E|ZOMOY—EXREHNER 2,270 1,560 710
DE | B|ly—EXFE5EFET(5) 2,270 1,560 710
H—E REENSME R = 5E(6)=(4)-(5) 157,340 245733 A 88,393
R E R EEE(7)=(3)+(6) 3,335,874 6,604,850] A 3,268,976
i 58 B i 4@ Bh & N A 0 1,990,000] A 1,990,000
P Iz “‘rﬁ;’iﬂff*%éﬂﬁéwﬁ 1,500,000 0 1,500,000
gl | 26 |ELEREXIBE 1,700,000 0 1,700,000
e Z QIO EBIRE 141,910 247,400[ A 105,490
E HrRIIN 5T (8) 3,341,910 2,237,400 1,104,510
la> # ElE &S - NHiE 5 0 5
7 [ EEHEEEEREI 55 0 1,990,000] A 1,990,000
Y5 FET(9) 5 1,990,000 A 1,989,995
5 Il 1 ek 2= BB (10)=(8)—(9) 3,341,905 247,400 3,094,505
LEEENMERESE (11) = (7) +(10) 6,677,779 6,852,250] A 174,471
=g |HIEARREEENIE R ERE (12) 56,125,917 19,273,667 36,852,250
FEH | BEREHUEENEREZE(13)=(11)+(12) 62,803,696 26,125,917 36,677,779
DiE | EXEEEEZE(14) 0 0 0
e | EE£EREEZE05) 0 20,000,000/ A 20,000,000
B [(Z0DIEILEENERZE(16) 0 10,000,000] A 10,000,000
B | ZRMOEILEIEIEE(1T) 0 0 0
REIERE BN = 2E(18)=13+14+15+16-17 62,803,696 56,125,917 6,677,779




